Klasse BVKT1
2. Schulaufgabe aus der Mathematik
am 17.04.2013

NAME: oo

1.1 1.2 1.3 1.4 1.5 1.6 1.7 2 3 )y

Zu 1.2 und 1.6

\}

[e0)

~

a

F S

w

)
-




_
jr ) 1%
N ~ < z Q bk \ —
= Y <L R " el L 3 13
\ 4 N w
~ a .-. X | ~ T 3 —& s P Qc .W
+— ‘W — 1 _- W D\ O i Q
[\ x > & n1 + ) N !
o O 93 o £ e . ad NN N ! ™ ) O
B 3 \ 4 _-J A vM + o *y el .‘QL o = o .
¥ N X - | I= I " & > > RIF
Q ~ O R | o0 NN * Vel L M| o | 3| ®
4 oI S N 7 D IS X S 1°
NIl nEEIXPFSEEN | ¥ W 1, - >\ 2 A
g | e EES T Y, ] sl ] 2 | e oy 9 |y
Sl : MY ) (IR EARS s REEREM N[ €
N < A ST RENEIEER o R . J2s N
NNEN NS ESEEL 0 gl CEL BN ECNP g,
) ( DS < CI N IS - 13
3 _}p " " (- p) f 1_. o m o Wl 3 3 r# W il
< = _ ! VLo [e] (3 o] [ [S] [ 1Y | ™M %
S o ¥ ... - - NS -3 FOXTw RAESCVERS ©
S SIEL LI LI T 7Y % Lyl ol | 1X I of T S IS
g N TN ~ - IR NN % +X x 3
v T d ol | ] |5 o P 4 ~1 I, oo (
¢ o S + ]
3 | [ a | T © X el o | TR NEHe o) £
SR |+ N x| N al ol Ta 1
L ~ \ RUBEN :
wlw WL ! > L N N% == e (& 3 o (O LT
. o |- X S| (0] la] @O |8 o N [BN X)) ﬂ Y
v [ U ¥ | fal | oo | o SENER XY v | Q&[] 1+
0“ 39 _C 0s s q LY » o » 4 94 @ X v yx; 8 g o |
- L)) ¥ ) @
. Ny - S :




BVKT1 - 2.Schulaufgabe am 12.0¢.2013  (2/2)
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